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Problem 1. Set up the line integral fc 1ds for the arclength of each given curve.
a. C is the portion of y = z® from (—1,-1) to (1,1).
b. C is the portion of z = —1 +y? from (0, —1) to (0,1).

c. C is the upper half of the ellipse r() = (2cost,sint).
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Problem 2. Set up the line integral fc f ds for each given plane curve C and surface f(z,y). Use
software like Wolfram Alpha to compute the integral.

a. C s the parabola z = y? oriented from (4, ~2) to (4,2); f(z,y) = sinzcosy
b. C is the line segment joining (-2, —1) and (1,2); f(z,y) = 22 +y* +2

c. C is the right half of the unit circle along with the line segment from (0,1) to (0,-1);
fl@y)=z+y

d. C is the line segments from (0,1) to (1,1) and from (1,1) to (1,0); f(z,y) = = + y?
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Problem 3. Let C be the piecewise defined closed curve in the shape of a square with vertices at
(£1,%1). Let C,Cr,Cr,Cp denote the four line segments that form C (left, right, top, bottom
respectively). Give the sign (positive, negative, or zero) of each of the following line integrals.
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